EARAROBEEIERT — 2 N— IBISH —F

20135 7A6H (+) 7HEE1R

BEElc1-54 c1 v5%3kt

‘ (%] ‘ (sl — | 4 (@) 14000 KB

[A~&E£] 1 7% :150,000 @ ~ 23%&:3500 M0  3#&:14,00H  43%:8000 8  573&:5000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN =t 30. 9 - RED (8
ilglolvonstysat— B4 an 1(3_0)1 2-2-2-2 | 37.9 2 (4+811) ﬁ%isu =
RiT— W RFY2— B:9IF>50-X chE#E
S S N f s o7 | IS 1:30.2 1-1-1-1 | 38.1| — 3 485 | THIERE (EH)
2|8|10| ¥ T~V —> #55.0 (172) o) | AR
RTIRAFTEN BV Ry T E/FT7— L
S 4 5 | HBIEHE 1:30.7 4-4-3-3 [38.2| — 4 472 | WEZEA (ER)
3 6| ¥TRE—-ZX 54.0 2 1/2) 3 | BFER
L:O—Y XA x4 B:vA4x4U—7T AREG21—T7—L
N N T &S : ~5-5-. — AH—X (£8)
A o |ELy U TAZ b o4 s 1(.13/02.)8 5-5-5-4 | 38.0 1 3160) ot
w425 B:T74)—-ZAXZ b AR KB
- s it 6 G 1:32.2 6-6-6-6 |39.1| — 5 478 | WUEZEAN (EH)
s\g|7|E-7A-% 0 ) o |HE-E
g/ XLy b BNLVFTyE J—HrTr—LA
; RETIEN o4 | SHIESE 1:32.4 3-3-4-5 [39.9| — 6 507 | mENE (1ERB)
6l7lg|A—VET>T> 56.0 (3/4) +7) ‘r’ﬂ;iﬁg .
L:T7HIHFLIY BI-X¥LY— BE f5—
o o — P sUNESS :32. ~7-7~ . — HHEE (E8)
7 3| 70T ¢ — i 5 e 1(312>6 9-7-7-7 | 39.2 9 <4+524) s ®
RTHITNKry N BRI TTSF e &
O 1SS =P [Ty : -10-9- — KIEEK (£E)
gl1l1|Vvyrr3ay o4 UTHeR 1.(312).8 10-10-9-8 | 38.7 8 (4+7:) /J\J%Z_
L:vWHEAYX B:aTTIFF ®mE E=
= ; 7 BEFA— 1:33. —9-8- 4 = HAEPAE (1£8)
9 4| IRF1=—T0 4 Aax (2313/23) 8-9-8-9 |39 7 ;126) s i
L:zAhREO=Z—)b B:Ya2IR9RX—IL 1— NETHIS
o S AR S, 1O Al :34. —8-10- . - HHE (£8)
10l5]5| YIN=01 2N 2R 7 BT 1 (374)6 7-8-10-10 | 40.4 10 (4+538) EERR G
R:FYE Ry TO—F B:T7I4 NI R A 45
® 1—F—@EBIERL
1T=7r= 10,9,8,6,2,7,5,4,3,1
20—F— 10,9,8,6,2,7,3,5,4,1
30—4— 10,9,6,8,2,7,3,4,1,5
40—+ — 10,9,6,2,8,7,3,1,4,5
[ N5
B 9 250M 714K 9-10 270 e E 8-8 510 JEE 6-9-10 1,180M
B B 9 1004 6-9 320M B = 9-10 790 JEE 9-10-6 4,330
10 140 6-10 460M B H 9-10 1,020
6 1009

ABICOVWTRDTEEERROODE. TR LIV,




